
U-Bolts go around vertical frame tubes

Threaded Boss goes on top of 
stock rear ball hitch

YAMAHA GRIZZLY/ KODIAK 2” RECEIVER
2” RECEIVER     	 PART # 101280
			   Hardware Kit: HK-050 

Kit Components:
Qty.	         Part Description

1……………. 2” Receiver
2……………. 5/16”-18 X 1-1/4” X 1-3/4” U-BOLT
4……………. 5/16”-18 NYLOCK NUT
4..…………... 5/16” SAE FLAT WASHER ZINC
1……………. 5/8”-11 X 1-1/2” HEX BOLT GR5 ZINC
1……………. 5/8” USS FLAT WASHER ZINC
1……………. 5/8” LOCK WASHER

INSTALLATION INSTRUCTIONS: 

1.	 Place the receiver into location as shown in     	
Figure 1. Line up the hole in the OEM hitch and the 
threaded boss on the receiver.

2.	 Put the supplied U-bolts around the vertical 
frame tubes as shown in Figure 1.

3.	 Tighten all Hardware

4.	 Do not exceed recommended tongue or towing 
weight.

1©2016 Copyright Kappers Fabricating, Inc.   All rights reserved

Figure 1


